C:h Addition (Horizontal)

Name:

Solve each problem.

1) 351+30=

2) 132+31=

3) 928 + 629 =

4) 912 + 648 =

5 1,366 + 66 =

6) 6,182 + 521 =

7) 45+ 3=

8) 55+ 4=

9 6,740 + 5,651 =

10) 963 + 399 =

11) 2,648 + 53 =

12) 93+90=

13) 1,453 +325=

14) 3,047 + 2,748 =

15) 323+ 74=

10.

11.

12.

13.

14.

15.

Answers
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Addition (Horizontal) Name:. Answer Key
Solve each problem. Answers
1) =
351 + 30 381 ) 381
2) 132+31= 163 2 163
3 1,557
3) 928+629= 1,557
4 1,560
4 -
) 912 + 648 1,560 . 1432
5 1366+66= 1432 6. 6,703
7 48
6) 6,182+521= 6,703
8. 59
7 —_
8 B5+4= 59 10, 1,362
1 2,701
9 6,740+5651= 12,391
12 183
10) 963 + 399 = 1,362 13, 1,778
1) 2648 +53= 2,701 . 95,795
15, 397
12) 93+90= 183
13) 1453+325= 1,778
14) 3,047 +2,748= 5,795
15) 323+74= 397
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C:h Addition (Horizontal) Name:

Solve each problem. Answers
1,560 6,703 163 1,362 48
12,391 381 1,557 1,432 59 1.

1) 351+30= 2

2) 132+31=

3) 928 + 629 =

4) 912+ 648 =

5) 1,366 + 66 =

10.

6) 6,182 + 521 =

7) 45+3=

8 55+4=

9 6,740 + 5,651 =

10) 963+ 399 =
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